A P
Euro{& ;L: Soi‘f ne iwg{*a“a/hom C\OMS{':TN@ QQW.P& &

C\,\.M(\(Q-em 2*' d e Wmd«;vua = ver.

Ct/\au(fk-—eww 2 \,us\/aLLO/W{’ a Une WZ(IS{ZL/\LQ

Ao pus Sgom- 2 P. = ASoo w.

ﬂack,\,\'rg_e_,:\ (0»\/2/‘ .5(1\/./;“\/0\_(.%%1/ o (W V.3 W\O('.Q,a,(,\
2 kW

do PSSt P =

\
Ae()arﬁ,(\g LA~ d’)mru(u\(.& .

Tensionn LFE\CO\-C—E_: U = Z22aY ~—
Covvant e fficae . T = 2A

" - - SoH~N-
E&L\WQVKQ ‘ g = S 2 la (pw{ssame.P

4) IAC\:C]\LCB les teocs (Jz(a\\fowﬁ F&L‘«M’V(), T, ert‘MPi‘C(aM('ef—%)
Todn B Y oF e fuJ&Af‘A&Pw(JSa»ce cos\(ﬁ A.Q_.r\:"\slﬁ,u@"\\oﬂ.,

2) Ca(w(e\f: b e \)u,(sgowtaz, hﬂu\.@ A&SS\'F&.

[~ coo

[ — Re (Y)

7 = mY)
3) Qu,Q,“.Q Cawx»o:ke'/ C A«o.l’—ov\ M&(Q% fafxueiq, Pouf‘ O(o(,uu'r
3 C@S\() = /{’?

R L poncre
25N P = UL o Po@T? P=@ly)y’
Z}_lp:(%—rpm = 3300 W

-~ P=UT ol =0 LCQJ\Q: £ =03 =57

o

VT

_ P
-Q\QCY)’ D-:Z =0 &ize,(‘/): PMU+2PC :-010—‘?’1.5 IL"

!
“hn ) = Kanp Re ) :o} Do () = ko & =m0, 44

0 T
S P S B L
YR { yc];/]fw‘CY){

cw = tam (Y]

N N
\/n :}KW\CY) pc+PH
\/ A U'L

C = tonlf| Fe+Pn :SKX/LF

i U




